

ORDINANCES

OF THE

YUKON TERRITORY

PASSED BY THE

YUKON COUNCIL

IN THE YEAR

1960

FIRST, SECOND AND THIRD SESSION

F. H. COLLINS COMMISSIONER

Printed and Published for the Government of the Yukon Territory under Authority of Chapter 93 of the Consolidated Ordinances of 1958.

BY

H. J. TAYLOR, Queen's Printer



OF THE

YUKON TERRITORY

PASSED BY THE

YUKON COUNCIL

IN THE YEAR

1960
FIRST, SECOND AND THIRD SESSION

F. H. COLLINS COMMISSIONER

Printed and Published for the Government of the Yukon Territory under Authority of Chapter 93 of the Consolidated Ordinances of 1958.

BY

H. J. TAYLOR, Queen's Printer

INDEX

1960 (FIRST SESSION)

Chap	
1.	An Ordinance Respecting the Sale of Certain Lands of The Yukon Territory
2.	An Ordinance to Provide Hospital Insurance for Residents of The Yukon Territory
3.	An Ordinance Authorizing the City of Whitehorse to Levy and Collect a Special Frontage Rate
4.	An Ordinance to Amend the Hospital Ordinance
5.	An Ordinance to Amend the Taxation Ordinance
6.	An Ordinance to Amend the Municipal Ordinance
7 .	An Ordinance to Amend the Business Licence Ordinance
8.	An Ordinance for Granting to the Commissioner Certain Additional Sums of Money to Defray the Expenses of the Public Service of the Territory
9.	An Ordinance for Granting to the Commissioner Certain Sums of Money to Defray the Expenses of the Public Service of the Territory
	1960 (SECOND SESSION) NO LEGISLATION PASSED.
	NO LEGISLATION PASSED.
	1960 (THIRD SESSION)
1.	An Ordinance to Authorize the Commissioner to Grant a Franchise to The Yukon Electrical Company Limited for the Distribution of Electrical Power in the Area of Car- cross, in The Yukon Territory
2.	An Ordinance to Authorize the Commissioner to Borrow Money from the Government of Canada to Give Effect to a Program to Alleviate Housing Conditions in The Yukon Territory
3.	An Ordinance to Amend the Motor Vehicle Ordinance
4.	An Ordinance to Amend the Elections Ordinance
5.	An Ordinance to Amend the Judicature Ordinance
6.	An Ordinance for Granting to the Commissioner certain Additional Sums of Money to Defray the Expenses of the public Service of the Territory

ORDINANCES OF THE YUKON TERRITORY 1960 (First Session)

AN ORDINANCE RESPECTING THE SALE OF CERTAIN LANDS OF THE YUKON TERRITORY

(Assented to 9 April 1960)

WHEREAS The Catholic Episcopal Corporation of Whitehorse has been negotiating with the Commissioner for the purchase of certain land owned by the Crown in the City of Whitehorse; and

WHEREAS the said Corporation is desirous of using the said land for school and church purposes; and

WHEREAS the said land has been recently surveyed for the purposes aforesaid and may be more particularly described as Lot three hundred and forty-nine and Parcel D of Lot three hundred and nine, both in Group eight hundred and four, in the Yukon Territory, according to a plan of survey of record in the Land Titles Office for the Yukon Land Registration District under number 23261; and

WHEREAS the administration of the said lands is being transferred from the Government of Canada to the Yukon Territory and the value of the lands has been appraised at a value in excess of two thousand dollars; and

WHEREAS it is deemed expedient that the said lands be transferred to the said Corporation upon payment of a purchase price to be agreed upon without offering the lands for sale by public tender,

NOW THEREFORE the Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory, enacts as follows:

1. Notwithstanding anything in the Yukon Lands Ordinance, the Commissioner may, on such terms and conditions as he sees fit, sell the lands more particularly described as:

SALE OF CERTAIN LANDS

CHAP. 1

the whole of Lot three hundred and forty-nine and Parcel D of Lot three hundred and nine, Group eight hundred and four, in the Yukon Territory, according to a plan of survey of record in the Land Titles Office for the Yukon Land Registration District under number 23261

to The Catholic Episcopal Corporation of Whitehorse upon payment by the said Corporation to the Territory of such purchase price as is agreed upon by the Commissioner and the said Corporation.

ORDINANCES OF THE YUKON TERRITORY 1960 (First Session)

AN ORDINANCE TO PROVIDE HOSPITAL INSURANCE FOR RESIDENTS OF THE YUKON TERRITORY

(Assented to 9 April 1960)

The Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory, enacts as follows:

SHORT TITLE.

1. This Ordinance may be cited as the Yukon Hospital Insur- Short Title. ance Services Ordinances.

INTERPRETATION.

2. In this Ordinance.

Definitions.

- (a) "Federal Act" means the Hospital Insurance and Diag- "Federal Act". nostic Services Act of Canada:
- (b) "hospital insurance plan" means the plan established "Hospital insurance by this Ordinance and the regulations for providing plan". insured services to insured persons:

"Hospital

- (c) "insured person" means a person who is eligible for and entitled to insured services:
- (d) "insured services" means the in-patient and out-patient services to which insured persons are entitled under this Ordinance and the regulations but does not include services any person is eligible for and entitled to under any Act of the Parliament of Canada or a provincial legislature specified in the regulations or any other statute or law specified in the regulations; and
- (e) "resident" means a person legally entitled to remain "Resident". in Canada who makes his home and is ordinarily present in the Territory but does not include a tourist, transient or visitor to the Territory.

HOSPITAL INSURANCE SERVICES

INSURED SERVICES.

Residents entitled to insured services

3. Subject to the provisions of this Ordinance and the regulations, every resident is eligible for and entitled to insured services.

AGREEMENT AUTHORIZED.

Agreement authorized.

4. (1) The Commissioner may enter into an agreement with the Minister of National Health and Welfare of Canada pursuant to the Federal Act to provide for the payment by Canada to the Territory of contributions in respect of the cost of insured services incurred by the Territory pursuant to this Ordinance and the regulations.

Amendment to

(2) An agreement under this section may by mutual consent of the parties thereto be amended or terminated in the manner provided by the Federal Act.

PAYMENT OUT OF ACCOUNT.

Payments out of Yukon Consolidated Revenue Fund.

- 5. From and out of moneys issued and advanced out of the Yukon Consolidated Revenue Fund there may be paid
 - (a) to a hospital in the Territory with which the Administrator has entered into an agreement under paragraph
 (d) of section 7, such amounts as are specified by the agreement in respect of the cost of insured services provided by that hospital to insured persons;
 - (b) to any other hospital in the Territory, such amounts in respect of the cost of insured services provided by that hospital to insured persons as are determined by the Administrator in accordance with the regulations;
 - (c) to any hospital outside the Territory, such amounts in respect of the cost of insured services provided by that hospital to insured persons outside the Territory as are determined by the Administrator in accordance with the regulations; and
 - (d) to an insured person, such amounts in respect of the cost of insured services provided by a hospital outside the Territory to that person as are determined by the Administrator in accordance with the regulations.

ADMINISTRATION

(1) There shall be an Administrator to be called the Appointment Yukon Hospital Insurance Administrator to be appointed by the Commissioner and where no Administrator is appointed the Commissioner shall act as such

Administrator.

(2) The Administrator is chief executive officer charged Duties of with the responsibility of administering the hospital insurance plan and has supervision over and direction of the staff required to administer the plan.

(3) The officers and employees necessary for the proper Officers and conduct of the hospital insurance plan shall be appointed of Plan. under the provisions of the Public Service Ordinance.

POWERS OF ADMINISTRATOR.

- 7. Subject to this Ordinance and the regulations, the Powers. Administrator has power
 - (a) to develop and administer the hospital insurance plan;
 - (b) to determine eligibility for and entitlement to insured services:
 - (c) to determine the amounts that may be paid pursuant to paragraphs (b) to (d) of section 5 in respect of the cost of insured services provided to insured persons;
 - (d) to enter into agreements on behalf of the Territory with hospitals in or outside the Territory, or with the Government of Canada or any province or an appropriate agency thereof, for the provision of insured services to insured persons;
 - (e) to approve hospitals for purposes of this Ordinance:
 - (f) to conduct surveys and research programmes and obtain statistics for such purposes;
 - (g) to appoint inspectors and auditors to examine and obtain information from hospital records, reports and accounts:

CHAP 2

HOSPITAL INSURANCE SERVICES

- (h) to prescribe forms and records necessary to carry out the purposes and provisions of this Ordinance; and
- (i) to perform such other functions and discharge such other duties as may be assigned to him by the regulations.

REPORT TO COMMISSIONER.

Annual Report to Commissioner

8. The Administrator shall annually make a report to the Commissioner respecting the administration of the hospital insurance plan and each such report shall be tabled at the Session of the Territorial Council next following the making thereof

LIABILITY OF ADMINISTRATOR.

Administrator not liable for acts, etc. of hospital.

9. The Administrator is not liable for any act or omission of any hospital official, any person on the medical staff or nursing staff of a hospital or any employee or agent of a hospital.

REGULATIONS.

Regulations

- . The Commissioner may make regulations
- (a) establishing a hospital insurance plan for the furnishing to insured persons by hospitals of insured services upon uniform terms and conditions;
- (b) defining "hospitals" for the purposes of this Ordinance and the regulations;
- (c) prescribing the in-patient and out-patient services that insured persons are eligible for and entitled to as insured persons;
- (d) specifying for the purpose of paragraph (d) of section 2 the statutes or laws referred to therein;
- (e) prescribing the terms and conditions upon which a person is eligible for and entitled to insured services;
- (f) respecting the inspection of hospitals;

- (g) prescribing the terms and conditions of approving hospitals for the purposes of the hospital insurance plan;
- (h) determining the cost of providing services in hospitals;
- (i) establishing the charges that may be made by hospitals to patients;
- (j) specifying the records and accounts to be kept by hospitals and the returns and reports to be made by them to the Administrator;
- (k) prescribing the terms and conditions upon which payment may be made to hospitals for the provision of insured services to insured persons, and the method of making such payments;
- (1) prescribing the terms and conditions upon which payment may be made in respect of the cost of insured services provided to insured persons outside the Territory, and the amount of such payments;
- (m) prohibiting, restricting or regulating the making or renewing of contracts
 - (i) to provide a resident with, or to reimburse or indemnify a resident for the cost of insured services,
 - (ii) to provide a resident with any benefit related directly or indirectly to hospitalization or to the length of time a resident is in hospital;
- (n) regulating insurance contracts that provide for the payment of hospital insurance benefits supplementary to those provided pursuant to this Ordinance and the regulations;
- (o) respecting the powers of inspectors and auditors appointed by the Administrator to inspect hospitals and the records, reports and accounts thereof;
- (p) providing for the appointment of such advisory or other committees, agencies or persons as he considers necessary or advisable for the effective operation of the hospital insurance plan; and

CHAP. 2

HOSPITAL INSURANCE SERVICES

(q) generally for the administration of this Ordinance and for carrying into effect the purposes and provisions of any agreement entered into under section 4.

THIRD PARTY LIABILITY.

Commissioner

11. Upon the provision of insured services to an insured person in respect of an injury resulting from a wrongful act or omission of another person, the Commissioner shall be subrogated to all rights of the injured person for the purpose of recovering the cost of such insured services, and may bring an action either in his own name or in the name of the insured person for the recovery of the amount thereof and effect a settlement of such claim.

Insured person may sue for insured services provided to him.

12. (1) Notwithstanding section 11, an insured person who, as a result of a wrongful act or omission of another person, suffers an injury for which he has received insured services may recover the amount of the cost of providing those services to him from the person guilty of the wrongful act or omission in the same manner as though he himself had been required to pay for those services.

Actions to include claim for Commissioner. (2) Every insured person described in subsection (1) who commences an action for the recovery of damages for personal injuries shall include therein a claim on behalf of the Commissioner for the cost of any insured services provided to him.

Payment to Commissioner.

(3) Where a resident recovers an amount in respect of insured services received by him either in an action to recover damages for personal injuries or by other means he shall forthwith pay the amount so recovered to the Commissioner.

Joining of action commenced by Commissioner.

- 13. Where the Commissioner has commenced action in the name of an insured person for the recovery of the cost of insured services provided to him, the insured person may
 - (a) at any time prior to the trial of the action, and
 - (b) upon such conditions as to costs or otherwise as to the court seem just,

join in that action such other claims as he may have arising out of the same occurrence.

14. It shall not be a defence to an action brought by the Commissioner that the claim has been adjudicated upon unless the claim subrogated included a claim for the amount paid for insured services and it shall not be a defence to an action to recover damages for personal injuries brought by a person who has received insured services that an action taken by the Commissioner for the recovery of the cost of those services has been adjudicated upon.

No defence Commissioner's claim adjudicated.

No release or settlement of a claim or judgment based Release or upon an action to recover damages for personal injuries where the injured person has received insured services shall be binding upon the Commissioner unless the Commissioner or person designated by him has approved the release or settlement in writing.

OFFENCES AND PUNISHMENT.

(1) No person shall knowingly obtain or receive insured services to which he is not entitled under this Ordinance or the regulations.

persons not to receive services

(2) No person shall knowingly aid or abet another person Aiding and to obtain or receive insured services to which he is not entitled under this Ordinance or the regulations.

abetting.

(3) No person shall obstruct or hinder an inspector or auditor in carrying out his duties or functions under this Ordinance or the regulations.

Obstruction

(4) Every person who violates any of the provisions of Offence and this Ordinance or the regulations is guilty of an offence and liable on summary conviction to a fine not exceeding five hundred dollars or to imprisonment for a term not exceeding three months, or to both fine and imprisonment.

No prosecution for an offence under this Ordinance Limitation. shall be instituted more than two years from the date of the commission of such offence.

ORDINANCES OF THE YUKON TERRITORY 1960 (First Session)

AN ORDINANCE AUTHORIZING THE CITY OF WHITEHORSE TO LEVY AND COLLECT A SPECIAL FRONTAGE RATE

(Assented to 25 March 1960)

WHEREAS the Government of Canada, the Government of the Territory and the municipality of the City of Whitehorse entered into a joint enterprise for the paving of certain streets and roads in and adjacent to the said City during the year 1959; and

WHEREAS that portion of the said paving project for which the said City was responsible was completed during the year 1959 at a cost to the City of thirty-six thousand and six dollars and eighty-eight cents; and

WHEREAS the said City failed to pass a by-law authorizing the said paving project as a local improvement pursuant to the provisions of the *Municipal Ordinance*, being Chapter 79 of the Revised Ordinances of the Yukon Territory, 1958; and

WHEREAS the Municipal Ordinance, being Chapter 1 of the Ordinances of the Yukon Territory, 1959 (Second Session), makes no provision for the Council of a municipality to pass by-laws authorizing local improvements subsequent to the local improvements being completed; and

WHEREAS the said road paving project is not deemed to be of direct benefit to the municipality at large, except to the extent of six thousand seven hundred and thirteen dollars and nineteen cents of the cost of the said project; and

WHEREAS the Council of the said City are desirous of passing a by-law authorizing the levy and collection of a special frontage rate in respect of each parcel of land in the said City that directly benefits from the road paving project

for the purpose of recovering the cost of the said project to the extent of twenty-nine thousand two hundred and ninety-three dollars and sixty-nine cents,

NOW THEREFORE the Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory, enacts as follows:

1. Notwithstanding anything in any Ordinance of the Territory, the Council of the municipality of the City of Whitehorse is hereby authorized to pass a by-law in the form set out in the Schedule and to levy and collect the special frontage rate in the manner therein provided.

SCHEDULE

BY-LAW No.

A By-law to authorize the Council of the Municipality of the City of Whitehorse to levy a frontage tax on certain rateable properties within the City of Whitehorse in respect of a road paving project, and for the authorizing of the payment of frontage tax on a yearly basis or by way of one cash payment for the total frontage tax.

WHEREAS the total cost of the road paving project contracted by the Municipality of the City of Whitehorse as at the 30th day of September, A.D. 1959, was Thirty-Six Thousand and Six Dollars and Eighty-eight cents (\$36.006.88).

AND WHEREAS it is deemed expedient and equitable to levy a portion of the cost of the said project in the amount of Twenty-nine Thousand Two Hundred and Ninety-three Dollars and Sixty-nine Cents (\$29,293.69) by means of a special frontage assessment against the lands fronting upon the streets concerned;

AND WHEREAS it is considered that the said project is of general benefit to the whole of the Municipality and therefor the balance of the said cost in the amount of Six Thousand Seven Hundred & Thirteen Dollars and Nineteen Cents (\$6,713.19) should be borne by the Municipality at large;

AND WHEREAS it is considered necessary that the said cost of the project be liquidated within a period of seven years and that the owners of property in the Municipality be given an opportunity of paying their share of the said cost in one cash payment rather than in seven equal annual instalments:

NOW THEREFORE the Council of the Municipality of the City of Whitehorse in open meeting assembled, enacts as follows:

- 1. The sum of Twenty-nine Thousand Two Hundred & Ninety-three Dollars and Sixty-nine Cents (\$29,293.69) being a portion of the cost of the aforementioned road paving project, shall be levied as a special frontage assessment against the lands fonting upon the street concerned and the registered owners of all such lands in the Municipality shall be assessed therefore at the rates shown in the annexed Schedule together with interest at the rate of four percentum (4%) per annum, except that any registered owner of property shall have the option of paying, by one cash payment, the total frontage tax assessment; which option must be exercised within Ninety (90) days from the date of the receipt by the property owner of the Tax Notice.
- 2. The sum of Six Thousand Seven Hundred & Thirteen Dollars and Nineteen Cents (\$6,713.19) being a portion of the cost of the said project, shall be borne by the municipality at large and shall be collected from each registered owner of real property in the municipality, except those referred to in clause 1, out of general revenue acquired from the general assessment of the Municipality.
- 3. The rates shown in the annexed Schedule shall be listed in a separate column of the tax roll of the Municipality and shall be collected within a period of seven years in a like manner as other taxes in respect of lands and improvements, unless sooner paid.

PASSED in Open Council this A.D. 1960.	day of
	Mayor
	City Clerk

This By-law received:

1st reading the	day of	A.D. 1960.
2nd reading the	day of	A.D. 1960.
3rd reading the	day of	A.D. 1960.

City Clerk

SCHEDULE.

COST BREAKDOWN — CURB & GUTTER — CITY OF WHITEHORSE.

TOTAL COSTS: - Territory and City.

1.	Standard Curb and Gutters	\$ 49,902.22
	Buttress Curb	7,413.76
		\$ 57,315.98
	City's share — \$57,315.98/2=\$ 28,657.99	. ,

BREAKDOWN SUMMARY: —

1.	Standard Curb & Gutter	Local Improvement	General Benefit
	(i) Main Street & 1st Avenue (ii) Second Avenue (iii) Fourth Avenue	\$ 267.29 2,546.10 13,627.77	\$ 666.04 1,976.59 2,867.31
_		\$ 19,441.16	\$ 5,509.94
2.	Buttress Curb		
	(i) Main Street	\$ 3,706.88	Nil
	(ii) Second Avenue	Nil	Nil
	(iii) Fourth Avenue	Nil	Nil
		\$ 3,706.89	Nil
	TOTALS	\$ 23,148.05	\$ 5,509.94

City's Share — \$23,148.05+\$5,509.94=\$ 28,657.99

Description	Local	Impro	vement		Gene	ral Benefit
	Frontage	Rate	Amount	Fron- tage	Rate	Amount
MAIN STREET — 1st A	venue					
— In front of Whiteh	огѕе					
Station - East side	144.2	1.975	284.80			
- West Side - North	า					
Lot 5 Block 6	8.2	2.395	19.64			
Lot 5 Block 6	13.8	1.975	27.25			
- West Side - South						
Lot 1 Block 5	11.0	1.975	21.72			
Lot 1 Block 5	11.0	2.395	26.34			
1st Avenue to 2nd	Avenue					
— North Side						
Lot 5 Block 6	8.0	2.395	19.16	15.8	2.395	37.84 Radius
Lot 5 Block 6	89.7		177.16	20.0	,	0,10,1144.40
Lot 5 Block 6	2.3	2.395	5.51	20.0	2.395	47.90 Lane
Lot 6 Block 6	2.3	2.395	5.51			
Lot 6 Block 6	27.7	1.975	54.71			
Lot 7 Block 6	30.0	1.975	59.25			
Lot 8 Block 6	30.0	1.975	59.25			
Lot 9 Block 6	30.0	1.975	59.25			
Lot 10 Block 6	30.0	1.975	59.25			
Lot 11 Block 6	28.0	1.975	55.30			
Lot 11 Block 6		2.395	4.79	21.3	2.395	51.01 Radius
Lot 11 Block 6	8.0	2.395	19.16			
- South Side						
Lot 1 Block 5	8.0	2.395	19.16	11.1	2.395	26.58 Rádius
Lot 1 Block 5	89.5	1.975	176.76			
Lot 1 Block 5	2.5	2.395	5.99	20.0	2.395	47.90
Lot 17 Block 5	2.5	2.395	5.99			
Lot 17 Block 5	27.5	1.975	54.31			
Lot 16 Block 5	30.0	1.975	59.25			
Lot 15 Block 5	30.0	1.975	59.25			
E ₂ Lot 14 Block 5	15.0	1.975	29.62			
W ₁ Lot 14 Block 5	15.0	1.975	29.62			
Lot 13 Block 5 Lot 12 Block 5	30.1 28.0	1.975	59.47 55.30			
Lot 12 Block 5	28.0	1.975 2.395	33.30 4.79	30.1	2.395	72.09 Radius
LOU 12 DIOCK 3	2.0	2.373	4./9	JU.1	4.373	12.09 Radius

CITY OF WHITEHORSE — CURB & GUTTER COST BREAKDOWN

Description Local Improvement General Benefit

Description	Loca	lImpro	vement	General Benefit			
MAIN STREET — Contin	ued Frontage	Rate	Amount	Fron- tage	Rate	Amount	
2nd Avenue to 3rd Avenue					• •	,	
- North Side							
Lot 1 Block 16	10.0	2.395	23.95	21.5	2.395	51.49	Radius
Lot 1 Block 16	47.7	1.975	94.21				
Lot 2 Block 16	50.0	1.975	98.75				
Lot 3 Block 16	50.0	1.975	98.75				
E½ Lot 4 Block 16	25.0	1.975	49.38				
Wł Lot 4 Block 16	25.0	1.975	49.37				
Lot 5 Block 16	50.0	1.975	98.75	•			
Lot 6 Block 16	48.0	1.975	94.80				
Lot 6 Block 16	10.0	2.395	23.95	21.5	2.395	51.49	Radius
— South Side							
Lot 12 Block 15	2.0	2.395	4.79	29.6	2.395	70.89	Radius
Lot 12 Block 15	48.5	1.975	95. 7 9				
W12½'Lot 11 Block 15	12.5	1.975	24.69				
E37½'Lot 11 Block 15	37.5	1.975	74.06				
E½ Lot 10 Block 15	25.0	1.975	49.38				
W½ Lot 10 Block 15	25.0	1.975	49.37				
Lot 9 Block 15	50.0	1.975	98. 7 5				
E½ Lot 8 Block 15	25.0	1.975	49.38				
W½ Lot 8 Block 15	25.0	1.975	49.37				
E½ Lot 7 Block 15	24.0	1.975	47.40				
W½ Lot 7 Block 15	24.0		47.40				
Lot 7 Block 15	10.0	2.395	23.95	21.6	2.395	51.73	Radius
3rd Avenue to 4th Avenue							
North Side - Federa							
Lot 1 to 6 Block 26	292.3		577.29				
Lot 1 to 6 Block 26	7.7	2.395	18.44	24.7	2.395	59.16	Radius
- South Side			•				
Lot 12 Block 25	10.0	2.395	23.95	22 .0	2.395	52.69	Radius
Lot 12 Block 25	48.0	1.975	94.80				
Lot 11 Block 25	50.0	1.975	98.75				
Lot 10 Block 25	50.0	1.975	98.75				
Lot 9 Block 25	50.0	1.975	98.75				
Lot 8 Block 25	50.0	1.975	9 8.7 5				
Lot 7 Block 25	44.9	1.975	88.68				
Lot 7 Block 25	5.1	2.395	12.22	18.9	2.395	45.27	Radius

CITY OF WHITEHORSE — CURB & GUTTER COST BREAKDOWN

Description Local Improvement General Benefit

Description	Local	Local Improvement			General Benefit		
	Frontage	Rate	Amount	Fron- tage	Rate	Amount	
SECOND AVENUE							
c Main St. to Elliott St.							
— East Side							
Lot 12 Block 5		2.395	239.50	39.4	2.395	94.36	
Lot 11 Block 5	100.0	2.395	239.50				
—West Side							
Lot 12 Block 15	100.0	2.395	239.50	38.4	2.395	91.97	
Lot 1 Block 15	100.0	2.395	239.50				
c Elliott St. to c Lamber	rt St.						
— East Side							
Lot 12 Block 4	100.0	2.395	239.50	74.7	2.395	178.90	
Lot 11 Block 4	100.0	2.395	239.50				
- West Side							
Lot 12 Block 14	100.0	2.395	239.50	75.0	2.395	179.63	
Lot 1 Block 14	100.0	2.395	239.50				
c Lambers St. to c Hans	on St.						
— East Side							
Lot 12 Block 3	100.0	2.395	239.50	74.9	2.395	179.39	
Lot 11 Block 3	100.0	2.395	239.50				
- West Side							
Lot 12 Block 13	100.0	2.395	239.50	74.5	2:395	178.42	
Lot 1 Block 13	100.0	2.395	239.50				
c Hanson St. to c Hawki	ins St.						
— East Side							
Lot 12 Block 2		2.395	239.50	75.6	2.395	181.06	
Lot 11 Block 2	100.0	2.395	239.50				
- West Side							
Lot 12 Block 12	100.0	2.395	239.50	76.2	2.395	182.50	
Lot 1 Block 12	100.0	2.395	239.50				
c Hawkins St. to c Roge	rs St.						
- East Side							
Lot 12 Block 1		2.395	167.65	80.0	2.395	191.60	
Lot 11 Block 1	100.0	2.395	239.50				

CITY OF WHITEHORSE — CURB & GUTTER COST BREAKDOWN

Description Local Improvement General Benefit

Description	Local Improvement		General Benef			
SECOND AVENUE —	Continue Frontage		Amount	Fron-	Rate	Amount
West Side	Liontage	Kate_	Amount	tage	Nate	Aillouit
West SideLot 12 Block 11	70.0	2.395	167.65	76.1	2.395	182.26
Lot 12 Block 11		2.395	239.50	70.1	2.393	102.20
		2.373	239.30			
Rogers St. to c Lowe S	5t. —					
— East Side	1000	0.005	000 50		0.005	
Lot 2 Block A		2.395	239.50	64.9	2.395	155.44
Lot 1 Block A	75.7	2.395	181.30			
- West Side						
Lot 12 Block C	100.0	2.395		<i>7</i> 5.6	2.395	181.06
Lot 1 Block C	100.0	2.395	239.50			
FOURTH AVENUE						
Main St. to Lane S of N	lain St.					
- East Side						
Lot 7 Block 25	100.0	2.395	239.50			
117 . C' 1						
- West Side	50.0	2.395	, 119.75	23.4	2 205	56.04
N½ Lot 12 Block 35 S½ Lot 12 Block 35	50.0	2.395		23.4	2.393	30.04
Sy Lot 12 Block 33	30.0	2.393	119.73			
c Main St. to c Steele St	•					
— East Side						
Lot 6 Block 26			239.50	69.2	2.395	165. 73
Lot 7 Block 26	100.0	2.395	239.50			
- West Side						
S ₁ Lot 12 Block 36	50.0	2.395	119.75			
N ₂ Lot 12 Block 36	50.0	2.395	119.75			
Lot 1 Block 36	100.0	2.395	239.50	68.9	2.395	165.02
c Steele St. to Wood St.						
- East Side						
Lot 6 Block 27	100.0	2.395	239.50	70.9	2.395	169.81
Lot 7 Block 27	100.0	2.395	239.50			
- West Side						
Lot 1 Block 37	100.0	2.395	239.50	71.4	2.395	171.00
Lot 12 Block 37	100.0	2.395	239.50			

CITY OF WHITEHORSE — CURB & GUTTER COST BREAKDOWN

Description Local Improvement General Benefit

Description	Loca	impio	veilleilt		Gene	al benefit
FOURTH AVENUE — C			Amount	Fron- tage	Rate	Amount
c Wood St. to c Jarvis S	 t.					
- East Side						
Lot 6 Block 28	100.0	2 305	239.50	71.0	2.395	170.05
Lot 7 Block 28		2.395		71.0	2.075	170.03
•	100.0	2.075	200.00			
— West Side	100.0	2 205	220 50	70.0	2 205	160 57
Lot 1 Block 38 Lot 12 Block 38		2.395 2.395		70.8	2.395	169.57
LOT 12 DIOCK 36	100.0	2.393	239.50			
c Jarvis St. to c Stricklar	nd St.					
— East Side						
Lot 6 Block 29	100.0	2.395	239.50	70.5	2.395	168.85
Lot 7 Block 29	100.0	2.395	239.50			
- West Side						
Lot 1 Block 39	100.0	2.395	239.50	71.0	2.395	170.05
Lot 12 Block 39		2.395		,		
	·					
Strickland St. to Alexand	er St.					
— East Side						
Lot 6 Block 30			167.65	61.8	2.395	148.01
Lot 7 Block 30	107.4	2.395	257.22			
— West Side						
Lot 1 Block 40		2.395		79.5	2.395	190.40
Lot 12 Block 40	109.6	2.395	262.49			
Alexander St. to Black St						
	.					
— East Side	1100	2 205	262.02	01.4	2 205	104.05
Lot 8 Block 100		2.395 2.395		81.4	2.395	194.95
Lot 9 Block 100	105.1	2.393	251.71			
- West Side						
Lot 1 Block 110		2.395		68.7	2.395	164.54
Lot 12 Block 110	101.8	2.395	243.81			
Black St. to Wheeler St.						
— West Side						
Lot 1 Block 111	100.0	2.395	239.50	68.7	2.395	164.54
Lot 12 Block 111		2.395	251.47			

CITY OF WHITEHORSE — CURB & GUTTER COST BREAKDOWN

Description | Local Improvement | General Benefit

Description	Local Improvement			General Benefi		
FOURTH AVENUE — (Continue Frontage		Amount	Fron- tage	Rate	Amount
Wheeler St. to Cook St.						
- West Side						
Lot 1 Block 112	100.0	2.395	239.50	71.1	2.395	170.28
Lot 12 Block 112	100.0	2.395	239.50			
Cook St. to Ogilvie St.						
— West Side						
Lot 1 Block 113	100.0	2.395	239.50	73.6	2.395	176.27
Lot 12 Block 113	100.0	2.395	239.50			
Black St. to Ogilvie St.						
— East Side						
In front of						
High School	400.0	2.395	958.00	21.7	2.395	51.97
Lot 5 Group 5	416.4	2.395	997.27			
Ogilvie St. to Baxter St.						
— West Side						
Lot 1A Block 114	103.8	2.395	248.60	83.6	2.395	200.22
Parcel C Lot 7			•			
Group 5	280.0	2.395	670.60			
Parcel A Lot 7						
Group 5	362.2	2.395	867.47			
Lot 1 Block 125	93.6	2.395	224.17			
- East Side						
Parcel B Lot 7	632.8	2.395	1515.56			
Lot 7 Group 5	212.0	2.395	50 7 .74			

SPECIAL FRONTAGE RATE

CITY OF WHITEHORSE — PAVING COST BREAKDOWN

(Square Foot Basis)

COSTS:

(1) Main Street and First Avenue

Common Excavation	\$.03185
Unstable Material	\$.00372
Replacement Material	\$.00271
Sub-Base Preparation (Type 1)	\$.04111
Asphalt Stabilized Base	\$.08555
Asphaltic Concrete — "2"	\$.16000
Per Square Foot =	\$.32494

(2) Fourth Avenue

Common Excavation	\$.03185
Unstable Material	\$.00372
Replacement Material	\$:00271
Sub-Base Preparation	\$.04111
Asphalt Stabilized Base	\$.08555
Asphaltic Concrete — "4"	\$.31889
Per Square Foot =	\$.48383

SPECIAL FRONTAGE RATE

CITY OF WHITEHORSE — PAVING BREAKDOWN

Description	Local Improvement		General Benefit			
First Avenue at Main St.	Area	Rate	Amount	Area	Rate	Amount
Fronting 20' strip & BYN	1100 sq.'	.32494	1 <i>7</i> 8.71			
	5000 sq.'		812.35			
	1100 sq.'	.32494	178.71			
Lot 1 Block 5	1100 sq.'	.32494	178.71	5912 sq.'	.32494	951.30
	1100 sq.'	.32494	1 <i>7</i> 8. <i>7</i> 1			
Main Street						
First Avenue to 2nd Ave.						
Lot 5 Block 6	3800 sq.'	.32494	617.38	1520 sq.'	.32494	251.95 Lane
Lot 6 Block 6	1140 sq.'	.32494	185.21			
Lot 7 Block 6	1140 sq.'	.32494	185.21			
Lot 8 Block 6	1140 sq.'	.32494	185.21			
Lot 9 Block 6	1140 sq.'	.32494	185.21			
Lot 10 Block 6	1140 sq.'	.32494	185.21			
Lot 11 Block 6	1140 sq. ′	.32494	185.21			
Lot 1 Block 5	3800 sq.'	.32494	617.38			
Lot 12 Block 5	1140 sq.'	.32494	185.21			
Lot 13 Block 5	1140 sq.'	.32494	185.21			
W ₂ Lot 14 Block 5	570 sq.′					
E½ Lot 14 Block 5	570 sq.′	.32494	92.60			
Lot 15 Block 5	1140 sq.'					
Lot 16 Block 5	1140 sq. ′	.32494	185.21			
Lot 17 Block 5	1140 sq. '	.32494	185.21			
Fourth Avenue						
Main Street South to Lan	<u>e</u>					
Lot 7 Block 25	2400 sq.'	.48383	580.59			
N ₂ Lot 12 Block 35	1200 sq.'	.48383	290.29			
S½ Lot 12 Block 35	1200 sq.'	.48383	290.29			

ORDINANCES OF THE YUKON TERRITORY 1960 (First Session)

AN ORDINANCE TO AMEND THE HOSPITAL ORDINANCE

(Assented to 9 April 1960)

The Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory, enacts as follows:

O.Y.T. 1959 (First Session) Chap. 1.

- 1. Paragraph (b) of Section 2 of the Hospital Ordinance is repealed and the following substituted therefor:
 - "(b) "hospital" means any institution, building or other premises, place or facility howsoever created, established, or incorporated, for the treatment of persons suffering from sickness, disease, or injury or for the treatment of incurable persons, approved and designated as such by regulation."
- 2. Section 6 of the said Ordinance is repealed and the following substituted therefor:
 - "6. The Commissioner may make regulations
 - (a) respecting the approving of hospitals and designating hospitals to which this Ordinance applies;
 - (b) respecting the construction, alteration, maintenance and management of hospitals, and the maintenance of adequate standards therein; including the supervision and inspection thereof;
 - (c) respecting hospital personnel;
 - (d) respecting the admission, treatment, conduct, discipline and discharge of patients;
 - (e) respecting accommodation, laboratory, examination and treatment facilities in hospitals;

HOSPITAL CHAP. 4

(f) providing for the appointment of such advisory or other committees, agencies or persons as he considers necessary or advisable for the effective operation of hospitals and prescribing the powers and duties of such committees, agencies or persons:

- (g) providing for the filing of reports, financial statements and verification thereof by hospitals;
- (h) appointing or providing for the appointment of persons as hospital inspectors and prescribing their powers and duties;
- (i) respecting all other matters affecting hospitals, and generally for the administration of this Ordinance"

ORDINANCES OF THE YUKON TERRITORY 1960 (First Session)

AN ORDINANCE TO AMEND THE TAXATION ORDINANCE

(Assented to 9 April 1960)

The Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory, enacts as follows:

O.Y.T. 1959 (Second Session) Chap.2.

- 1. (1) Paragraph (f) of Section 3 of the Taxation Ordinance, being Chapter 2 of the Ordinances of the Yukon Territory, 1959 (2nd session) is repealed and the following substituted therefor:
 - "(f) churches, including residences and buildings in connection therewith, and the contiguous lands used in connection with such churches to the extent of not more than two acres in respect of each church;"
- (2) Notwithstanding the provisions of any Ordinance of the Territory, subsection (1) shall be deemed to have been in force as and from the first day of April, 1959.

ORDINANCES OF THE YUKON TERRITORY 1960 (First Session)

AN ORDINANCE TO AMEND THE MUNICIPAL ORDINANCE

(Assented to 9 April 1960)

The Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory. enacts as follows:

1. Section 99 of the Municipal Ordinance is amended by O.Y.T. 1959 adding thereto, immediately after paragraph (a) thereof, Sessi the following paragraph:

- "(aa) for the purpose of establishing, operating and maintaining a fluoridation system in connection with the water supply system of the municipality, where such by-laws have received the assent of three-fifths of the electors of the municipality voting thereon;"
- 2. Section 288 of the said Ordinance is repealed and the following substituted therefor;
 - "288. A person who is eligible to vote under section 238 but whose name does not appear on the revised list of electors, may vote at an election after
 - (a) taking an oath in Form R of Schedule C, and
 - (b) being vouched for by a person whose name appears on the revised list of electors who shall take and subscribe an oath to the effect that he knows the person applying to vote and verily believes him to be qualified to vote under section 238."
- 3. (1) Paragraph (d) of Schedule B of the said Ordinance is repealed and the following substituted therefor:
 - "(d) the whole of Lot three hundred and thirty-six, Group eight hundred and four, according to a plan of survey

CHAP. 6 MUNICIPAL

of said lot of record in the Land Titles Office for the Yukon Land Registration District under number 22875."

- (2) Schedule B of the said Ordinance is further amended by adding thereto the following paragraph:
 - "(g) the whole of Lot three hundred and forty-four, Group eight hundred and four, according to a plan of survey of said lot of record in the Land Titles Office for the Yukon Land Registration District under number 22918."

26

ORDINANCES OF THE YUKON TERRITORY 1960 (First Session)

AN ORDINANCE TO AMEND THE BUSINESS LICENCE ORDINANCE

(Assented to 9 April 1960)

The Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory, enacts as follows:

1. Subsection (2) of Section 5 of the Business Licence Ordinance is repealed and the following substituted therefor:

R.O.Y.T. 1958 (Second Session) Chap. 58.

- "(2) Notwithstanding anything in this Ordinance, no licence is required by this Ordinance to be obtained by any person for the purpose of carrying on within the Territory
 - (a) the business of publishing a newspaper, and
 - (b) the occupation of prospecting, mining exploration and development or oil and gas exploration and development"
- 2. Section 9 of the said Ordinance is amended by adding thereto the following subsection:
 - "(2) Subsection (1) shall not apply in respect of a licence obtained by an extra-territorial company under the provisions of the *Companies Ordinance* authorizing it to carry on business within the Territory."

ORDINANCES OF THE YUKON TERRITORY
1960 (First Session)

AN ORDINANCE FOR GRANTING TO THE COMMISSIONER CERTAIN ADDITIONAL SUMS OF MONEY TO DEFRAY THE EXPENSES OF THE PUBLIC SERVICE OF THE TERRITORY

(Assented to 9 April 1960)

WHEREAS it appears by message from Frederick Howard Collins, Commissioner of the Yukon Territory, and in the estimates accompanying the same that the sums hereinafter mentioned in Schedule "A" of this Ordinance are required to defray certain expenses of the Public Service of the Yukon Territory and for the purposes relating thereto, for the twelve months ended 31st March, 1959.

THEREFORE the Commissioner of the Yukon Territory by and with the advice and consent of the Council of the said Territory enacts as follows:—

Short Title.

(1) This Ordinance may be cited as the fourth Supplementary Appropriation Ordinance 1958-59.

Amount Granted. (2) From and out of the Yukon Consolidated Revenue Fund there may be paid and applied a sum not exceeding in the whole one hundred and seventy-seven thousand five hundred and fourteen dollars and eighty-one cents for defraying the several charges and expenses of the Public Service of the Yukon Territory for the twelve months ending March 31st, 1959, as set forth in Schedule "A" of the Ordinance.

Monies to be accounted for.

- (3) The due application of all monies
 - (a) expended pursuant to Section 2 and
- (b) recoverable as set forth in Schedule "B" shall be duly accounted for.

SCHEDULE "A"

Additional sums granted to the Commissioner by the Ordinance for the twelve months ended March 31st, 1959, and the purposes for which they are granted.

General

Miscellaneous:-		
Mayo General Hospital Payroll\$	35,372.52	
Old Whitehorse General		
Hospital Payroll	126,425.29	
New Whitehorse General Hospital		
Loan Interest	15,717.00	177,514.81
-		\$177,514.81

SCHEDULE "B"

Recoverable Expenditure:-

General

	
Miscellaneous:- Mayo General Hospital Payroll\$ 35,372.52	
Old Whitehorse General Hospital Payroll 126,425.29	161,797.81
	\$161.797.81

ORDINANCES OF THE YUKON TERRITORY
1960 (First Session)

AN ORDINANCE FOR GRANTING TO THE COMMISSIONER CERTAIN SUMS OF MONEY TO DEFRAY THE EXPENSES OF THE PUBLIC SERVICE OF THE TERRITORY

(Assented to 9 April 1960)

WHEREAS it appears by message from Frederick Howard Collins, Commissioner of the Yukon Territory, and in the estimates accompanying the same, that the sums hereinafter mentioned in Schedule "A" of this Ordinance are required to defray certain expenses of the Public Service of the Yukon Territory and for the purposes relating thereto, for the twelve months ending March 31st, 1961:

THEREFORE the Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory, enacts as follows:

Short Title.

1. This Ordinance may be cited as the Appropriation Ordinance 1960-61.

Amount Granted. 2. From and out of the Yukon Consolidated Revenue Fund there may be paid and applied a sum not exceeding in the whole five million four hundred and fifty-six thousand six hundred and eighty-seven dollars and fifty-two cents for defraying the several charges and expenses of the Public Service of the Yukon Territory for the twelve months ending March 31st, 1961, as set forth in Schedule "A" of this Ordinance.

Monies to be accounted for

- 3. The due application of all monies:—
 - (A) Expended pursuant to Section 2 and
 - (B) recoverable as set forth in Schedule B shall be duly accounted for.

SCHEDULE "A"

Sums granted to the Commissioner by the Ordinance for the twelve months ending March 31, 1961, and the purposes for which they are granted. Vote No.

INO.				
1.	Yukon Council			
	Travelling and Living			
	Expenses			
	Freight, Express & Cartage	100.00		
	Telephone and Telegraph			
	Publication of Reports	1,500.00		
	Advertising	100.00		
	Stationery and Office			
	Equipment			,
	Sessional Indemnities	10,000.00	\$ ·	18,034.16
2.	Territorial Treasurer			
	Salaries	69,475.00		
	Fees	600.00		
	Travelling Expenses	500.00		
	Removal Expenses	500.00		
	Freight, Express & Cartage	300.00		
	Telephone & Telegraph	700.00		
	Publication of Reports	400.00		
	Stationery & Office			
	Equipment	2,353.17		
	Miscellaneous	250.00		
	Unemployment Insurance	350.00		
	Superannuation	500.00	\$	75,928.17
3.	Education `			
	Whitehorse Commercial			
	Course Vocational			
	Training (Day)	11,633.34		
	Superintendent - Admin-			
	istration	35,243.00		
	Dawson Elementary-High			
	School	· ·		
	Whitehorse High School	127,436.84		
	Mayo Elementary-High	20 774 72		
	School	30,764.59		

Снар. 9

Appropriation Ordinance 1960-61

Vote No.			
3.	Teslin School	8,837.67	
	Brook's Brook School	4,216.67	
	Watson Lake School	33,064.68	
	Swift River School	4,116.67	
	Carcross School	6,681.67	
	Haines Junction School	16,362.34	
	Kluane Lake School	3,416.67	
	Elsa School	14,150.34	
	Christ the King School	<i>77,7</i> 00.00	
	Night Classes, Whitehorse		
	High	3,000.00	
	Keno School	10,785.00	
	Beaver Creek School	4,416.67	
	St. Mary's School	8,750.00	
	Hansen St. Teacherage	3,066.00	
	Elsa Teacherage	95.00	
	Steele St. Teacherage	3,396.00	
	Lambert St. Teacherage	3,446.00	
	Dawson Teacherage	3,640.00	
	Mayo Teacherage	4,203.00	
	Watson Lake Teacherage	108.00	
	Carcross Teacherage	80.00	
	Teslin Teacherage	165.00	
	Selkirk St. Elementary		
	School		
	Granville School	4,116.67	
	Whitehorse Elementary		
	School	188,743.58	

Carmacks School 4,906.67

Vote No.

4.	Territorial	Secretary	and	Assessor
----	-------------	-----------	-----	----------

Salaries\$	40,600.00	
Professional & Special		
Services	1,200.00	
Travelling Expense	1,560.00	
Freight, Express & Cartage	600.00	
Postage	4,000.00	
Telephone & Telegraph	704.00	
Advertising	1,500.00	
Stationery & Office		
Equipment	4,950.00	
Unemployment Insurance	233.40	
Superannuation	685.00	\$ 56,032.40

5. Health and Public Welfare

Venereal Disease Control	500.00
Tuberculosis Control	40,900.00
Disease Prevention	
(Sanitation)	435.00
Cancer Control	2,000.00
Hospitals	44,000.00
Hospital Grants	6,000.00
Northern Health Services	61,674.40
New Whitehorse Hospital	87,000.00
Child Welfare Services	66,750.00
Social Assistance	68,700.00
Old Age Assistance	40,680.00
Blind Pensions	4,680.00
Disabled Persons Allow-	
ances	3,960.00
Mental Health Services	43,000.00
Administration	43,650.00
Unemployment Assistance	40,955.00

Hospital Insurance 475,000.00

\$1,029,884.40

Снар. 9

Appropriation Ordinance 1960-61

Vote	
No.	

6.	Municipal	and Town	Administration
----	-----------	----------	----------------

Salaries - Wages	3,650.00	
Freight, Express & Cartage	150.00	
Telephone & Telegraph	416.00	
Materials & Supplies	5,000.00	
Public Utilities	1,000.00	
Repair & Upkeep of		
Equipment	750.00	
Rental of Equipment	7,250.00	
Fuel	1,065.00	
Unemployment Insurance	100.00	
Grants	187,447.59	
Subsistence	100.00	\$ 206,928.59

7. Game

Salaries	9,700.00
Travelling Expense	1,000.00
Freight, Express & Cartage	50.00
Telephone & Telegraph	350.00
Films, Displays & Adver-	
tising	400.00
Stationery — Office	
Supplies	335.00
Materials — Supplies	1,025.00
Repair and Upkeep of	
Equipment	1,597.00
Rental of Equipment	4,750.00
Miscellaneous	3,000.00
Unemployment Insurance	66.96
Superannuation	310.00

22,583.96

Vote No.

8. General

Witness Fees, etc	2,000.00
Films & Displays	16,000.00
Rental of Buildings	9,534.00
Miscellaneous	202,475.59
Insurance — General	38,000.00
Insurance — Workmen's	
Compensation Board	12,600.00
Frontage Tax	1,456.00
Grants	16,800.00

\$ 298,865.59

9. Roads, Bridges & Public Works

Dawson-Stewart Crossing	
Road	140,113.96
Dawson-Boundary Road	15,010.36
Dawson-Dome Road	953.50
Dawson Airport	2,500.00
Atlin Road	15,193.02
Tagish Road	15,729.18
Carcross Road	28,488.96
Two Mile Hill	11,311.22
Street Construction, City of	
Whitehorse, Outside	
City Limits (8th	
Avenue)	2,949.30
Mayo Airport	2,500.00
Duncan Creek Road	5,574.40
Mayo Lake Road	595.00
Whitehorse-Keno Highway	111,163.38
Whitehorse-Keno Highway	113,466.86
Whitehorse-Keno Highway	94,376.72
Whitehorse-Keno Highway	
Pelly Ferry	22,823.48
Whitehorse-Keno Highway	
Stewart Ferry	23,669.00
Dawson Ferry	20,783.08

Appropriation Ordinance 1960-61

Снар. 9

Vote No.				
9.	Head Office Supervision	\$ 85 118 00		
٦.	Buildings			
	Canol Road			
	Dawson-Granville Road	•		
	Recreational Roads	•		
	Whitehorse District Roads,	10,7 39.00		
	Outside City Limits	3.211.80		
	Unallocated		\$	834,965.08
	-		•	33 1,7 33 13
10.	Capital Account			
	Dawson-Stewart Crossing Road	350,000.00		
	New School, Selkirk St. Whitehorse	3,500.00		
	Sewer & Water Service Installation West of 8th	65 000 00		
	Avenue	65,000.00		
	Haines Junction Liquor Store	5,000.00		
	Road Equipment	•		
	Furniture & Office	7,110.30		
	Equipment	29,389.75		
	Whitehorse-Keno Road, Re-			
	construction Major			
	Whitehorse-Keno Road, Re-			
	construction Minor	238,500.00		
	Canol Road	100,670.00		
	Dawson School	2,600.00		
	Street Construction —			
	Watson Lake	6,000.00		
	Street Construction —			
	Teslin	3,500.00		
	Street Construction —	2 000 00		
	Carcross	3,000.00		
	Street Construction — Haines Junction	1,000.00		

Vote No.		
10.	Street Construction —	
	Mayo	6,000.00
	Street Construction —	
	Keno	3,000.00
	Gravel Pit Survey	5,000.00
	Camp Ground & Picnic	
	Areas	30,000.00
	Mayo School & Teacherage	6,200.00
	Vocational School, White-	150 000 00
	horse	
	Whitehorse High School	8,642.90
	Mayo Hospital	1,000.00
	Street Paving Project —	102 700 00
	Whitehorse	103,500.00
	Watson Lake School	15,000.00
	Territorial Houses	1,600.00
	Dawson-Boundary Road	20,000.00
	Aircraft Dock Road	50,000.00
	Nisutlin Drive - Hostel	
	Area Whitehorse	2,500.00
	Selkirk Street	750.00
	Chadburn Lake Road,	
	Whitehorse	1,000.00
	Whitehorse Hospital Road	1,200.00
	McCrae Subdivision Roads	
	Mile 910-912	2,000.00
	Forestview Subdivision	
	Mile 925	1.00
	Mile 921-922 Alaska High-	
	way Settlement	1.00
	Whitehorse Garage Fence	2, 500.00
	Duncan Creek Road-Bridge	
	Replacement	5,500.00
	Camp Takhini Elementary	450.000.00
	School, Whitehorse	450,000.00
	Teacherage Accommoda-	105 000 00
	tion Whitehorse	105,000.00

Appropriation Ordinance 1960-61

Снар. 9

Vote No.	•			
10.	Whitehorse Garage,			
	(Grader Station)	20,000.00		
	Teslin School\$	10,500.00		
	Haines Junction School	1,000.00		
	Carmacks School	5,300.00		
	Carmacks Staff Quarters			
	Building	4,400.00		
	Gravel Lake Grader			
	Station	2,000.00		
	Carmacks Garage	2,000.00		
	Lambert Street School	25 0.00		
	Keno School	100.00		
	Carcross School	300.00		
	Lambert Street Teacherage	500.00		
	Steele Street Teacherage	500.00		
	Public Library & Depot,			
	Whitehorse	35,000.00	\$ 2	,137,522.95
	TOTAL		\$ 5,	456,687.52
Vote	SCHEDULE	ЕВ		
No.	Expenditure Recoverable:			
3.	Education Department			
	Night School, Whitehorse			
	— Fees\$	1,000.00		
	Commercial Courses — Whitehorse	5,150.00		
	Teacher on loan to D.N.D.			
	(Miss I. Cabot)	5,200.00		
	Teacher on loan to D.N.D.			
	reacher on loan to D.N.D.			
	(Miss S. Adams)	4,600.00		
	(Miss S. Adams) Dept. of Citizenship & Im-	4,600.00		
	(Miss S. Adams) Dept. of Citizenship & Immigration pro rata	4,600.00		
	(Miss S. Adams) Dept. of Citizenship & Im-	4,600.00 19,094.79	\$	35,044.79

Vote No.

Health — Public Welfare Tuberculosis Control	3,780.75 17,900.00 19,140.00 2,970.00 1,980.00 20,477.50	
Northern Health Services Child Welfare Services Old Age Assistance Blind Pensions Disabled Persons Allowance Unemployment Assistance	3,780.75 17,900.00 19,140.00 2,970.00 1,980.00 20,477.50	
Child Welfare Services Old Age Assistance Blind Pensions Disabled Persons Allowance Unemployment Assistance	17,900.00 19,140.00 2,970.00 1,980.00 20,477.50	
Old Age Assistance	19,140.00 2,970.00 1,980.00 20,477.50	
Blind Pensions Disabled Persons Allowance Unemployment Assistance	2,970.00 1,980.00 20,477.50	
Disabled Persons Allow- ance Unemployment Assistance	1,980.00 20,477.50	
anceUnemployment Assistance	20,477.50	
Unemployment Assistance	20,477.50	
Hospital Insurance	233,000.00	
		334,804.25
General		
Whitehorse Sewer & Water		
Loan due from City of		
Whitehorse	56,958.86	
	•	
= =	45,000.00	
Commission on Education due from Federal		
	25,000.00	
	10 000 00	126.050.06
Canada Council	10,000.00	136,958.86
Roads, Bridges & Public Wo	orks	
Dawson-Stewart Crossing		
Road	119,096.87	
Dawson Airport	2,500.00	
Mayo Airport	2,500.00	
Whitehorse-Keno Highway	310,674.52	
Head Office Supervision	30,000.00	
Canol Road	63,812.90	528,584.29
TOTAL CURRENT EXPEN	NDITURE	-
RECOVERABLE		\$1,035,392.19
	Whitehorse	Whitehorse Sewer & Water Loan due from City of Whitehorse

Appropriation Ordinance 1960-61

Снар. 9

Vote No.

10. Capital Account

Dawson-Stewart Crossing Road\$350,000.00	
New School, Selkirk St., Whitehorse	
Whitehorse-Keno Road Reconstruction - Major 270,000.00	
Whitehorse-Keno Road	
Reconstruction - Minor 238,500.00	
Canol Road 100,670.00	
Camp Ground & Picnic	
Areas 15,000.00	
Vocational School, White-	
horse45,800.00	
Street Paving, Whitehorse 103,500.00	
Aircraft Dock Road,	
Whitehorse 50,000.00	
Public Library & Depot,	
Whitehorse 4,000.00	1,179,220.00
TOTAL CAPITAL EXPENDITURE	
RECOVERABLE	\$ 1,179,200.00

ORDINANCES

OF THE

YUKON TERRITORY

THIRD SESSION

CHAPTER 1

ORDINANCES OF THE YUKON TERRITORY 1960 (Third Session)

AN ORDINANCE TO AUTHORIZE THE COMMISSIONER TO GRANT A FRANCHISE TO THE YUKON ELECTRICAL COMPANY LIMITED FOR THE DISTRIBUTION OF ELECTRICAL POWER IN THE AREA OF CARCROSS, IN THE YUKON TERRITORY

(Assented to November 26, 1960)

The Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory, enacts as follows:

1. The Commissioner is hereby authorized to grant a Commissioner franchise to The Yukon Electrical Company Limited for the franchise. distribution of electrical power in the area of Carcross, in the Yukon Territory, upon such terms and conditions as are approved by the Commissioner-in-Council.

CHAPTER 2

ORDINANCES OF THE YUKON TERRITORY 1960 (Third Session)

AN ORDINANCE TO AUTHORIZE THE COMMISSIONER TO BORROW MONEY FROM THE GOVERNMENT OF CANADA TO GIVE EFFECT TO A PROGRAM TO ALLEVIATE HOUSING CONDITIONS IN THE YUKON TERRITORY.

(Assented to November 26, 1960)

The Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory, enacts as follows:

Short Title

1. This Ordinance may be cited as the Yukon Housing Loan Ordinance.

Commissioner may borrow and enter into arrangements.

- 2. The Commissioner may, on behalf of the Government of the Yukon Territory, borrow money from the Government of Canada and enter into such arrangements as may by him be considered necessary to give effect to the following:
 - (a) to acquire Lot 19 in the City of Whitehorse for the purpose of making available for purchase alternate building sites for persons unlawfully occupying lands within the City of Whitehorse and to be financed by a loan from the Government of Canada in the amount \$145,200.00;
 - (b) to establish a second mortgage fund to be administered by Central Mortgage and Housing Corporation for the purpose of advancing loans to home builders in the Yukon Territory and to be financed by an initial loan from the Government of Canada in the amount of \$100,000.00;
 - (c) to establish a revolving mortgage fund for the purpose of advancing loans to qualified persons throughout the Yukon Territory, other than persons included in (b) herein, for home building and home improvement, to be financed by a loan from the Government of Canada in the amount of \$400,000.00;

(d) to establish, in co-operation with the Department of Northern Affairs and National Resources and Central Mortgage and Housing Corporation, a low rental housing development, for the purpose of providing low rental housing accommodation in the City of White-horse and in other parts of the Yukon Territory in respect of which similar arrangements may be made, to be financed in part by a loan from the Government of Canada in the amount of \$75,000.00; or an amount equal to 25% of the total cost of such development, whichever amount is the greater.

MOTOR VEHICLES

CHAPTER 3

ORDINANCES OF THE YUKON TERRITORY 1960 (Third Session)

AN ORDINANCE TO AMEND THE MOTOR VEHICLES ORDINANCE

(Assented to November 26, 1960)

The Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory, enacts as follows:

R.O.Y.T. 1958. c. 77.

- 1. Subsection (2) of section 5 of the Motor Vehicles Ordinance is repealed and the following substituted therefor:
 - "(2) The application shall be made in a form approved by the Commissioner and shall be accompanied by the registration fee set out in Schedule A."
- 2. (1) Subsection (3) of section 6 of the said Ordinance is repealed and the following substituted therefor:
 - "(3) An application made under subsection (2) of this section shall be on a form approved by the Commissioner, and shall be accompanied by the licence fee set out in Schedule A and such additional information as the Commissioner may require."
- (2) Subsection (6) of section 6 of the said Ordinance is repealed and the following substituted therefor:

Renewal of licences.

- "(6) A public service vehicle licence may, with the approval of the Commissioner, be renewed in such manner as may be prescribed and upon payment of the licence fee set out in Schedule A."
- (3) Paragraph (c) of subsection (11) of section 6 of the said Ordinance is repealed and the following substituted therefor:
 - "(c) return to the Registrar the public service vehicle licence plates."
- (4) Subsection (12) of section 6 of the said Ordinance is repealed and the following substituted therefor:

- "(12) An owner may apply to the Registrar upon the prescribed form accompanied by the transfer fee set out in Schedule A to transfer the public service vehicle licence plates removed from a motor vehicle under this section to another motor vehicle."
- 3. Subsection (2) of section 7 of the said Ordinance is repealed and the following substituted therefor:
 - "(2) The Commissioner shall not issue a liveryman's licence until the applicant pays the licence fee set out in Schedule A and complies with any other condition that may be prescribed."
- 4. Subsection (1) of section 8 of the said Ordinance is repealed and the following substituted therefor:
 - "8. (1) Subject to subsection (5), every owner shall, in Insurance. respect of his motor vehicle, take out and maintain in force a policy of motor vehicle liability insurance for an amount not less than

- (a) ten thousand dollars, not including interest and costs. for loss or damage resulting from bodily injury to or the death of any one person in any one accident:
- (b) the amount set out in Schedule B for loss or damage resulting from bodily injury to or the death of two or more persons in any one accident; and
- (c) two thousand dollars, not including interest and costs, for damage to property resulting from any one accident."
- 5. Subsection (3) of section 11 of the said Ordinance is repealed and the following substituted therefor:
 - "(3) The Registrar may renew a certificate of registration that has expired if the owner of the motor vehicle certificate of registration. applies for its renewal on the prescribed form and pays the registration fee set out in Schedule A."

- 6. Paragraph (c) of section 13 of the said Ordinance is repealed and the following substituted therefor:
 - "(c) the fee set out in Schedule A."

CHAP 3

MOTOR VEHICLES

- 7. Subsection (2) of section 14 of the said Ordinance is repealed and the following substituted therefor:
 - "(2) The owner shall deliver to the Commissioner for re-issuing the certificate of registration of the motor vehicle or trailer of which he has disposed, and upon payment of the fee set out in Schedule A the certificate of registration shall, subject to this Ordinance, be re-issued to the new owner; the number plates issued to the original owner for the motor vehicle or trailer shall remain affixed to such motor vehicle or trailer."
- 8. (1) Subsection (2) of section 15 of the said Ordinance is repealed and the following substituted therefor:
 - "(2) A dealer shall make application for the licence under subsection (1) to the Registrar in the prescribed form accompanied by the licence fee set out in Schedule A."
- (2) Subsection (4) of section 15 of the said Ordinance is repealed and the following substituted therefor:
 - "(4) A licence issued under subsection (3) authorizes a dealer to obtain distinctive number plates used for the purposes of demonstration and sale as are necessary in his business upon payment of the licence fee set out in Schedule A."
- 9. Subsections (1) and (2) of section 19 of the said Ordinance are repealed and the following substituted therefor:

"In Transit" markers.

- "19. (1) Upon proof satisfactory to the Commissioner that a dealer or purchaser has, in respect of a motor vehicle, taken out a policy of motor vehicle liability insurance in an amount not less than the amount required under subsection (1) of section 8, and upon payment of the permit fee set out in Schedule A, the Registrar or person authorized by him may issue to that dealer or purchaser an "In Transit" marker, which shall be used only on
- (a) the original trip of that motor vehicle from the place of business of the distributor to the place of business of the dealer:

- (b) the original trip of that motor vehicle from the place of business of the distributor to the place of business or residence of the purchaser:
- (c) the original trip of that motor vehicle from the place of business of the dealer to the place of business or residence of the purchaser; or
- (d) the original trip of that motor vehicle from the place of purchase to the place of business or residence of the purchaser.
- (2) An "In Transit" marker shall be pasted on the wind- Idem. shield of the motor vehicle and shall be destroyed immediately upon the arrival of the vehicle at the place of business of the dealer, the place of business of the purchaser, or the residence of the purchaser."

(1) Subsection (1) of section 22 of the said Ordinance is amended by deleting all the words following paragraph (d) thereof and substituting therefor the following:

"the Registrar may, upon receiving application therefor by or on behalf of the owner and upon proof satisfactory to the Commissioner that the owner is adequately covered by a policy of motor vehicle liability insurance in respect of such motor vehicle or trailer, issue to the owner a permit."

- (2) Subsection (2) of section 22 of the said Ordinance is repealed and the following substituted therefor:
 - "(2) The application shall be made in a form approved Application by the Commissioner and shall be accompanied by the Commissioner. permit fee set out in Schedule A."
- (3) Subsection (6) of section 22 is repealed and the following substituted therefor:
 - "(6) The Commissioner shall not issue to any one owner Limitation. more than three permits under subsection (1) in any one licence year."
- (4) Paragraph (b) of subsection (8) of section 22 of the said Ordinance is repealed and the following substituted therefor:

CHAP 3

MOTOR VEHICLES

- "(b) upon payment of the permit fee set out in Schedule A; and"
- 11. Section 27 of the said Ordinance is amended by adding thereto the following subsections:

Examination

"(2) Where the Registrar requires an applicant to submit himself for examination pursuant to subsection (1), the applicant shall pay to the officer who is to conduct the examination the examination fee set out in Schedule A.

Payment to Registrar.

- (3) Where an examination has been made pursuant to subsection (1) the officer conducting the examination shall forthwith remit to the Registrar the fee paid pursuant to subsection (2), except that where such officer is a member of the Royal Canadian Mounted Police, one half of the fee so paid shall, notwithstanding anything in this Ordinance, be remitted by the Registrar to the credit of the Royal Canadian Mounted Police."
- 12. Section 29 of the said Ordinance is repealed and the following substituted therefor:

Licence

- "29. Every application for a chauffeur's licence or operator's licence shall be accompanied by the licence fee set out in Schedule A."
- 13. (1) Paragraph (c) of subsection (1) of section 34 of the said Ordinance is repealed and the following substituted therefor:
 - "(c) pays the annual fee set out in Schedule A."
- (2) Section 34 of the said Ordinance is further amended by adding thereto the following subsection:

Duplicate licence fee.

- "3. The fee for granting a duplicate licence pursuant to subsection (2) shall be as set out in Schedule A."
- 14. (1) Subsection (1) of section 41 of the said Ordinance is amended by adding thereto the following paragraph:
 - "(c) a stop lamp or lamp on the rear of the vehicle, which shall display a red light visible from a distance of not

less than one hundred feet to the rear of the motor vehicle in normal sunlight and which can be lighted upon application of the foot brake."

- (2) Subsection (4) of section 41 of the said Ordinance is repealed and the following substituted therefor:
 - "(4) Where a motor vehicle except a motor vehicle de- Special signed for the transportation of passengers and having a carrying capacity of less than 9 persons, or a trailer is more than twenty feet in length, or more than eighty inches in width, it shall have affixed in conspicuous positions

- (a) at least one lighted amber clearance light on each side of the front as near the top as practical:
- (b) at least one lighted red clearance light on each side of the rear as near the top as practical; and
- (c) at least one lighted red clearance light on each side of the rear as near the bottom as practical."
- The said Ordinance is further amended by adding thereto, immediately after section 49 thereof, the following sections:
 - "49A. A motor vehicle may be equipped with lamps Directional that may be lighted intermittently or in flashes as a signal Lights. to indicate that the vehicle is about to be turned to the right or left according as the lamps are lighted on the right or left side of the front and rear of the motor vehicle; and any such lamp that is affixed to the rear of the motor vehicle shall cast a red light.

49B. (1) Except as otherwise provided in this Ordinance, no person shall operate on a highway a motor vehicle flashing that is equipped with any lamp that cast a red light that prohibited. lights intermittently or in flashes.

Coloured

- (2) This section does not apply to ambulances, police vehicles or fire fighting vehicles operated on highways by authorized persons."
- 16. The said Ordinance is further amended by adding thereto, immediately after section 138 thereof, the following sections:

CHAP 3

MOTOR VEHICLES

Limitations for civil actions. "138A. (1) Subject to subsection (2) no action shall be brought against a person for the recovery of damages resulting from the operation of a vehicle on a highway after the expiration of 36 months from the time that the cause of action arose.

Counterclaim and third party proceedings. (2) Where an action is brought within the time limited by this Ordinance for the recovery of damages resulting from the operation of a vehicle on a highway and a counterclaim is made or third party proceedings are instituted by a defendant in respect of damages resulting from the same accident, the lapse of time limited in this section is not a bar to such counterclaim or third party proceedings.

Hit and Run and Physical or Mental Incapacity.

- (3) The lapse of time limited in subsection (1) is not a bar to an action for the recovery of damages occasioned by a motor vehicle where the identity of the vehicle or the driver or owner thereof could not be ascertained by all reasonable efforts on the part of the person bringing the action within a reasonable time from the time that the cause of action arose, or to any action for the recovery of damages occasioned by a motor vehicle where the person bringing the action was unable to take such action in the time limited in subsection (1) for reasons of physical or mental incapacity, the proof of which shall be upon such person."
- 17. Subsection (2) of section 163 of the said Ordinance is repealed.
- 18. The Schedule to the said Ordinance is repealed and the following substituted therefor:

"SCHEDULE A. Tariff of Fees.

Full Oct. 1 to Jan. 1 to Fee Dec. 31 Mar. 1

- 1. Registration fees for
 - (a) trucks, with a load capacity of

	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		~~~	. capac	٠٠, ٥	•			
(i)	2,000	lbs.	or	less		15.00	7.50	4.00	
(ii)	2,001	lbs	to	6,000	lbs.	30.00	15.00	7.50	
(iii)	6,001	lbs.	to	10,000	lbs.	50.00	25.00	12.00	
(iv)	10,001	lbs.	to	20,000	lbs.	<i>7</i> 5.00	37.50	19.00	
(v)	20,001	lbs.	to	30,000	lbs.	130.00	65.00	32.00	
	_								

(vi) Over 30,000 lbs. 175.00 87.50 44.00

		•	Full Fee	Oct. 1 to Dec. 31	
	(b)	trailers, with a load capacity	of		
		(i) 2,000 lbs or less	3.00	1.50	1.00
		(ii) 2,001 lbs. to 6,000 lbs.	10.00		2.50
		(iii) 6,001 lbs. to 10,000 lbs.	25.00		6.00
		(iv) 10,001 lbs. to 20,000 lbs.	50.00		
		(v) 20,001 lbs. to 30,000 lbs.			
		(vi) Over 30,000 lbs.	150.00	75.00	37.50
	(c)	truck tractors	25.00	12.50	6.00
	(d)	motor vehicles or trailers owned and used by the Gov- ernment of Canada or of the			
		Territory or any municipality	1.00		
	(e)	motor cycles and pedal bi- cycles with motor attachment	3.00	1.50	1.00
	(f)	other motor vehicles with a wheel base of			
		(i) 100" or less	12.00	6.00	3.00
		(ii) Over 100" to 120"	15.00	7.50	4.00
		(iii) Over 120"	20.00	10.00	5.00
2.	Anr	nual licence fees for			
	(a)	public service vehicle trucks			
		with a load capacity of			
		(i) 2,000 lbs. or less	15.00	7.50	4.00
		(ii) 2,001 lbs. to 6,000 lbs.			7.50
		(iii) 6,001 lbs. to 10,000 lbs.	40.00		10.00
		(iv) 10,001 lbs. to 20,000 lbs.	50.00		12.50
		(v) Over 20,000 lbs.	75.00	37.50	19.00
	(b)	public service vehicle trail-			
		ers, with a load capacity of			
		(i) 2,000 lbs or less	40.00	20.00	10.00
		(ii) 2,001 lbs. to 6,000 lbs.	45.00		11.00
		(iii) 6,001 lbs. to 10,000 lbs.	50.00		12.50
		(iv) 10,001 lbs. to 20,000 lbs.			19.00
		(v) Over 20,000 lbs.	100.00	50.00	25.00
					52

Снар. 3

MOTOR VEHICLES

		Full Fee	Oct. 1 to Dec. 31	Jan. 1 to . Mar. 1
	(c) public service vehicles			
	(i) used for carrying passengers for hire(ii) in addition to the fee set out in subparagraph (i)	50.00		
	for each seating space in excess of fifteen	2.00		
	(d) liveryman's licence	20.00		
	(e) dealer's licence	5.00		
	(f) chauffeur's licence	5.00		
	(g) operator's licence	2.00		
3.	Permit fees for			
	(a) an "In transit" permit	1.00		
	(b) a permit issued pursuant to subsection (1) of section 22, where the motor vehicle or trailer or combination there- of has a load capacity of			
	(i) 10,000 lbs. or less	5.00		
	(ii) 10,001 lbs. to 20,000 lbs.	7.00		
	(iii) 20,001 lbs. to 30,000 lbs. (iv) Over 30,000 lbs.	10.00 15.00		
	(c) a permit issued pursuant to			
	subsection (8) of section 22	10.00		
4.	Fees for re-registration of motor vehicle or trailer	2.00		
5.	Assignment or transfer fees for			
	(a) motor vehicle or trailer registrations	2.00		
	(b) public service vehicle licences	2.00		
	(c) public service vehicle licence plates from one vehicle to another	2.00		
	ť /			

			Oct. 1 to Jan. 1 to Dec. 31 Mar. 1
	(d) liveryman's licence from one vehicle to another	2.00	
6.	Fees for distinctive number plates pursuant to subsection (4) of	75.00	
	section 15	25.00	
<i>7</i> .	Fees for each examination pursuant to section 27	2.00	
8.	Fees for obtaining a duplicate operator's or chauffeur's licence pursuant to subsection (2) of		
	section 34	1.00	

SCHEDULE B MINIMUM INSURANCE REQUIREMENTS.

Section 8(1)(b)

Maximum authorized carrying capacity of motor vehicle.	Minimum Insurance.
Less than 8 persons	\$20,000.00
8 to 12 persons	25,000.00
13 to 21 persons	30,000.00
22 to 32 persons	40,000.00
33 to 40 persons	50,000.00
41 to 50 persons	60,000.00
51 to 75 persons	85,000.00
More than 75 persons	110,000.00"

CHAP. 4 ELECTIONS

CHAPTER 4

ORDINANCES OF THE YUKON TERRITORY 1960 (Third Session)

AN ORDINANCE TO AMEND THE ELECTIONS ORDINANCE.

(Assented to November 26, 1960)

The Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory, enacts as follows:

R.O.Y.T. 1958 c. 34. 1. Section 4 of the *Elections Ordinance* is repealed and the following substituted therefor:

Electoral

- "4. There shall be seven electoral districts as described in the Schedule."
- 2. Paragraphs (b) and (c) of section 5 of the said Ordinance are repealed and the following substituted therefor:
 - "(b) is a Canadian citizen or other British subject;"
- 3. Section 8 of the said Ordinance is repealed and the following substituted therefor:

Qualifications of Candidates.

- "8. (1) Subject to section 9 and except as provided in subsection (2), any person who is qualified to vote at an election is eligible to be nominated and elected as a member of the Council for the electoral district in which he or she is ordinarily resident.
- (2) Subject to section 9, any person who is ordinarily resident in the electoral district of Whitehorse North, Whitehorse East or Whitehorse West and is qualified to vote at an election is eligible to be nominated and elected as a member of the Council for any one of such electoral districts."
- 4. The Schedule of the said Ordinance is repealed and the following substituted therefor:

ELECTIONS CHAP. 4

SCHEDULE

The following are the electoral districts in the Yukon Territory:

ELECTORAL DISTRICT OF DAWSON

The Electoral District of Dawson comprises all that portion of the Yukon Territory lying west of the meridian in longitude 138° west and north of the parallel of latitude 63° north.

ELECTORAL DISTRICT OF MAYO

The Electoral District of Mayo comprises all that portion of the Yukon Territory lying east of the meridian in longitude 138° west and north of the parallel of latitude 63° north.

ELECTORAL DISTRICT OF CARMACKS-KLUANE LAKE

The Electoral District of Carmacks-Kluane Lake comprises all that portion of the Yukon Territory lying south of the parallel of latitude 63° north and west of a line described as commencing at the intersection of the meridian in longitude 135° west with the parallel of latitude 63° north; thence south along said meridian to its intersection with the parallel of latitude 61° 30′ north; thence westerly along the last said parallel to its intersection with the meridian in longitude 136° west; thence south along the last said meridian to its intersection with the south boundary of the Yukon Territory.

ELECTORAL DISTRICT OF WATSON LAKE

The Electoral District of Watson Lake comprises all that portion of the Yukon Territory lying south of the parallel of latitude 63° north and east of a line described as commencing at the intersection of the said parallel with the meridian in longitude 135° west; thence south along the said meridian to its intersection with the parallel of latitude 61° 30′ north; thence easterly along the last said parallel to its intersection with the meridian in longitude 134° west; thence south along the last said meridian to its intersection with the south boundary of the Yukon Territory.

ELECTORAL DISTRICT OF WHITEHORSE NORTH

The Electoral District of Whitehorse North comprises all that portion of the Yukon Territory lying within the bounds of the area enclosed by a line described as commencing at CHAP. 4 ELECTIONS

the intersection of the parallel of latitude 61° 30' north with the left bank of the Yukon River; thence southerly along said bank and the west bank of Lake Laberge to the intersection of the left bank of the Yukon River with the easterly production of the south boundary of Lot 10. Group 804; thence westerly along the said production and the westerly production of said boundary to the centre line of the right-of-way of the Two-Mile Hill Road; thence northerly along the said centre line to a parallel of latitude passing through the intersection of said centre line with the easterly limit of the right-of-way of the Alaska Highway; thence westerly along said parallel to its intersection with the meridian in longitude 136° west: thence north along said meridian to its intersection with the parallel of latitude of 61° 30' north; thence easterly along the last said parallel to the point of commencement

ELECTORAL DISTRICT OF WHITEHORSE EAST

The Electoral District of Whitehorse East comprises all that portion of the Yukon Territory lying within the bounds of the area enclosed by a line described as commencing at the intersection of the parallel of latitude 61° 30' north with the meridian in longitude 134° west; thence south along said meridian to its intersection with the south boundary of the Yukon Territory: thence westerly along said boundary to its intersection with the meridian in longitude 135° west: thence north along said longitude to its intersection with the centre line of the main line of the White Pass and Yukon Railway: thence northerly along said centre line to its intersection with the southerly production of the centre line of the right-ofway of Fourth Avenue of the City of Whitehorse; thence northerly along said production and said centre line of Fourth Avenue to its intersection with the centre line of the rightof-way of the Two-Mile Hill Road; thence along the last said centre line to its intersection with the westerly production of the south boundary of Lot 10. Group 804; thence easterly along said production and the easterly production of said boundary to its intersection with the left bank of the Yukon River; thence northerly along said bank and the west bank of Lake Laberge to the intersection of the left bank of the Yukon River with the parallel of latitude 61° 30' north: thence easterly along said parallel to the point of commencement.

ELECTIONS CHAP. 4

ELECTORAL DISTRICT OF WHITEHORSE WEST

The Electoral District of Whitehorse West comprises all that portion of the Yukon Territory lying within the bounds of the area enclosed by a line described as commencing at the intersection of the centre line of the right-of-way of the Two-Mile Hill Road with the easterly limit of the right-of-way of the Alaska Highway: thence southerly along said centre line to the centre line of the right-of-way of Fourth Avenue of the City of Whitehorse: thence southerly along the last said centre line and its production southerly to its intersection with the centre line of the main line of the White Pass and Yukon Railway: thence southerly along the last said centre line to its intersection with the meridian in longitude 135° west: thence south along said longitude to its intersection with the south boundary of the Yukon Territory; thence westerly along said boundary to its intersection with the meridian in longitude 136° west; thence north along said meridian to its intersection with a parallel of latitude passing through the point of commencement; thence easterly along said parallel to the point of commencement."

5. Sections 1, 3 and 4 of this Ordinance shall come into force on a day to be fixed by order of the Commissioner.

Coming into

JUDICATURE

CHAPTER 5

ORDINANCES OF THE YUKON TERRITORY 1960 (Third Session)

AN ORDINANCE TO AMEND THE JUDICATURE ORDINANCE

(Assented to November 26, 1960)

The Commissioner of the Yukon Territory, by and with the advice and consent of the Council of the said Territory, enacts as follows:

R.O.Y.T. 1958, c. 60. 1. Section 14 of the *Judicature Ordinance* is repealed and the following substituted therefor:

Rules of

- "14. Subject to this and any other Ordinance, the Rules of the Supreme Court of British Columbia in force from time to time shall, mutatsi mutandis, be followed in all causes matters and proceedings, but the judges of the Court may make rules of practice and procedure, including tariffs of fees and costs in civil matters and fees and expenses of witnesses and interpreters in criminal matters, adding to or deleting from those rules, or substituting other rules in their stead."
- 2. Subsection (1) of Section 51 of the said Ordinance is repealed and the following substituted therefor:

Jurisdiction of Small Debt Officials. "(1) Every person appointed as a Small Debt Official has jurisdiction in the Territory to try and adjudicate upon any claim for a debt, whether payable in money or otherwise, where the amount or balance claimed does not exceed two hundred dollars, but such jurisdiction does not extend to any case in which Her Majesty is defendant or in which the title to land is involved."

CHAPTER 6

ORDINANCES OF THE YUKON TERRITORY 1960 (Third Session)

AN ORDINANCE FOR GRANTING TO THE COMMISSIONER CERTAIN ADDITIONAL SUMS OF MONEY TO DEFRAY THE EXPENSES OF THE PUBLIC SERVICE OF THE TERRITORY

(Assented to November 26, 1960)

WHEREAS it appears by message from Frederick Howard Collins, Commissioner of the Yukon Territory, and in the estimates accompanying the same, that the sums hereinafter mentioned in Schedule "A" of this Ordinance are required to defray certain expenses of the Public Service of the Yukon Territory and for the purposes relating thereto, for the twelve months ending March 31, 1961.

AND WHEREAS it appears that certain of the said sums are recoverable as set forth in Schedule "B".

THEREFORE the Commissioner of the Yukon Territory. by and with the advice and consent of the Council of the said Territory, enacts as follows:

- This Ordinance may be cited as the First Supplementary Short Title. Appropriation Ordinance 1960-61.
- 2. From and out of the Yukon Consolidated Revenue Fund Amount there may be paid and applied a sum not exceeding in the whole six hundred and fourteen thousand, eight hundred and eleven dollars and forty-nine cents for defraying the several charges and expenses of the Public Service of the Yukon Territory for the twelve months ending March 31, 1961, as set forth in Schedule "A" of this Ordinance.

- 3. The due application of all monies
 - (a) expended pursuant to section 2, and
- (b) recoverable as set forth in Schedule "B", shall be duly accounted for.

Monies to be accounted

SCHEDULE A

Additional sums granted to the Commissioner by the Ordinance for the twelve months ending 31st March 1961, and the purposes for which they are granted.

Vote No.

1	Yukon Council			
	Travelling and Living Expenses\$ Publication of Reports Stationery and Office	1,458.00 800.00		
	Supplies	500.00	\$	2,758.00
3	Education			
	Salaries and wages\$ 3 Stationery and Office	30,075.22		
	Supplies	600.00		
	Public UtilitiesRepairs and Upkeep of	890.00		
	Buildings and WorksRepairs and Upkeep of	4,200.00		
	Equipment	268.22		
		4,470.22		
		20,125.00	(60,628.66
6	Municipal and Town Administrati	ion		
	Grants			45,000.00
10	Capital Account			
	Ogilvie Bridge\$	3,000.00		
	Road Equipment26			
	Whitehorse-Keno Road, Re-			
	construction — Major 3	30,000.00		
	McQuesten Bridge 1	18,000.00		
	Forest Patrol Cabins, Ross			
	-	6,900.00		
	Forestry Warden's Residence,			
	Beaver Creek2	21,722.00		
	62			

Forestry Warden's Residence,		
Watson Lake	19,560.00	
Forestry Warden's Residence,		
Carmacks	19,515.00	
Forestry Garage, Teslin	1,200.00	
Forestry Garage, Beaver		
Creek	1,589.62	
Forestry Administration		
Building, Whitehorse	120,837.00	
Forestry Fire Stores Building,		
Beaver Creek	2,624.62	506,424.83
Total for twelve months ending		\$614,811.49
•		<u> </u>

SCHEDULE B

Recoverable Expenditure

Vote No.

3 Education

Teacher on loan to D.N.D. (Miss I. Cabot)\$ Dawson School — operating	291.67	
costs — Department of Citizenship & Immigration share	10,000.00	
— Department of Citizen- ship & Immigration share	905.21	\$ 11,196.88
Total Current Expenditure Recoverable		\$ 11,196.88

CHAP. 6 FIRST SUPPLEMENTARY APPROPRIATION

	Total Capital Expenditure Recoverable	\$2 44,948.24
	ing, Beaver Creek	\$244,948.24 ————
	Ready Fire Stores Build-	
	Yukon Forestry Division —	
	Administration Building 120,837.00	
	Yukon Forestry Division —	
	Beaver Creek	
	Yukon Forestry Division — Wardens 1 Bay Garage,	
	Unlined Garage, Teslin 1,200.00	
	Yukon Forestry Division —	
	Carmacks 19,515.00	
	Warden's Residence,	
	Yukon Forestry Division —	
	Watson Lake 19,560.00	
	Warden's Residence,	
	Yukon Forestry Division —	
	Beaver Creek 21,722.00	
	Warden's Residence,	
	Yukon Forestry Division —	
	River and Lapie Summit 6,900.00	
	Forestry Patrol Cabins, Ross	
	Canol Road 30,000.00 McQuesten Bridge 18,000.00	
	Ogilvie Bridge	
)	Capital	